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Determine the domain of the function y(z) =e¥™ +2V*, and find its derivative.
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3. Find the derivative z'(y) from the implicit function definition sin x cos y =sinz + cos y

Screen clipping
taken:

10/25/2022

4.
10:37 AM d :
(9 | f 4 Qi
(LX)}./ 0‘?]7" S)o’)((-_(f(,]=cd>‘\(-)(, J

Iny Coy = Shx +ory =

ODX - (07)‘7 ), y/ = (\c:‘nj) (\g,‘nx— l)
e Y. Ly /ﬁnvﬂ
‘/‘)ﬁmﬂxf\il’h‘e; (&D\y— I)a»y
(// )Q __,__ /' / 2&) / (/é@ ﬁ)) 4. Molten metal in a cylinder of radius r = 10em is pushed by a piston moving at velocity v=2cm /s

through a circular outlet of radius a =4em, and forms a growing hemisphere of radius R.
a) At what rate is the volume of the hemisphere increasing?
-\{W ?:( tdw b) At what rate is the radius of the hemisphere increasing?
c) What is the velocity of the material through the outlet of radius a7
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